
Answer on Question #42092 – Math – Statistics and Probability 

There are two winning tickets among ten tickets available. Determine the probability that (i) one 

or both of these tickets will be winning among five tickets selected at random. 

Solution. 

For a start, we number the tickets. Let, 1 and 2 – winning tickets; 3, 4, 5, 6, 7, 8, 9, 10 – non-

winning tickets. 

Let Ω = {(𝜔1, 𝜔2, … , 𝜔5)| 𝜔𝑖 =  1, 10̅̅ ̅̅ ̅̅ , 𝜔𝑖  ≠  𝜔𝑗 , 𝑖𝑓 𝑖 ≠ 𝑗} – probability space. |Ω| =  𝐶10
5

Now, we find the probability that none of these tickets will be winning among five tickets selected 

at random. We denote it 𝑃(𝐴).  

𝐴 = {(𝜔1, 𝜔2, … , 𝜔5) ∈  Ω|𝜔𝑖 =  3, 10̅̅ ̅̅ ̅̅ , 𝜔𝑖  ≠  𝜔𝑗 , 𝑖𝑓 𝑖 ≠ 𝑗 }, |𝐴| =  𝐶8
5

Using classical definition of probability, we have 

𝑃(𝐴) =  
|𝐴|

|Ω|
=  

𝐶8
5

𝐶10
5 =  

8!

5! ∙ 3!
∙

5! ∙ 5!

10!
=

2

9

Let 𝐵 = {one or both of these tickets will be winning among five tickets selected at random} 

Then, 𝐴 and 𝐵 are complement events, so 

𝑃(𝐵) = 1 − 𝑃(𝐴) =
7

9

Answer: the probability that one or both of these tickets will be winning among five tickets 

selected at random is 
7

9
.
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